	TABLEATION OF BID	<del></del>				Т				<del></del>	A second		and the state of the
PROJECT: Likelike Highway Wilson Tunnel Improvements  Leak and Crack Remediation													
PROJECT NO	PROJECT NO.: STP-063-1(22)  Net Length of Project: 0.66 Miles  ISLAND: Oahu  DISTRICT: Honolulu and Koolaupoko												
ISLAND: Oal				KIEWIT	KIEWIT PACIFIC CO.		JAS. W. GLOVER LTD.		HAWAIIAN DREDGING		OKADA TRUCKING CO.,		STATE OF HAWAII DEPARTMENT OF
1	RTISED: Honolulu Star-Bulletin - June 9, 2003 D: June 30, 2003							CONSTRUC	CTION CO., INC.		LTD.	TRANSPOR HIGHWAYS D	
COMPLETIO	N TIME: Three Hundred Ninety-four (394) Working Days												
ITEM NO.	ITEM	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
108.0700	Incentive Allowance	ALLOW.	ALLOW.	ALLOW.	\$300,000.00	ALLOW.	\$300,000.00	ALLOW.	\$300,000.00	ALLOW.	\$300,000.00	ALLOW.	\$300,000.00
202.0440	Removal of Concrete Sidewalk (7 S.Y.)	L.S.	L.S.	L.S.	\$5,000.00	L.S.	\$500.00	L.S.	\$2,000.00	L.S.	\$500.00	L.S.	\$700.00
202.0441	Removal of Concrete Barrier (353 L.F.)	L.S.	L.S.	L.S.	\$50,000.00	L.S.	\$20,000.00	L.S.	\$100,000.00	L.S.	\$12,500.00	L.S.	\$9,000.00
202.0443	Removal of Concrete Curb (192 L.F.)	L.S.	L.S.	L.S.	\$5,000.00	L.S.	\$3,000.00	L.S.	\$5,000.00	L.S.	\$1,500.00	L.S.	\$1,000.00
202.0444	Removal of Debris and Sediment from Drainage				3 1 1								ŕ
	System	340	C.Y.	\$230.00	\$78,200.00	\$650.00	\$221,000.00	\$600.00	\$204,000.00	\$700.00	\$238,000.00	\$60.00	\$20,400.00
202.0446	Removal of Existing Ceramic Tile	L.S.	L.S.	L.S.	\$150,000.00	L.S.	\$150,000.00	L.S.	\$350,000.00	L.S.	\$105,000.00	L.S.	\$85,000.00
202.0447	Removal of Drain Manhole Frame and Cover (14 Ea.)	L.S.	L.S.	L.S.	\$10,000.00	L.S.	\$4,500.00	L.S.	\$100,000.00	L.S.	\$2,000.00	L.S.	\$7,000.00
202.0448	Removal of Street Light Pole and Concrete Footing (1 Ea.)	L.S.	L.S.	L.S.	\$1,300.00	L.S.	\$1,098.12	L.S.	\$4,500.00	L.S.	\$1,500.00	L.S.	\$4,000.00
202.0449	Removal of Street Light Pullbox (1 Ea.)	L.S.	L.S.	L.S.	\$500.00	L.S.	\$1,000.00	L.S.	\$1,400.00	L.S.	\$500.00	L.S.	\$600.00
202.0450	Removal of Traffic Signal Pole, Partial Concrete Footing, Pullbox and Wiring (1 Ea., 80 L.F. wiring)	L.S.	L.S.	L.S.	\$1,300.00	L.S.	\$2,800.00	L.S.	\$4,000.00	L.S.	\$1,500.00	L.S.	\$1,500.00
202.0451	Removal of 350HP Variable Frequency Drive and Manual Bypass (2 Ea.)	L.S.	L.S.	L.S.	\$3,000.00	L.S.	\$16,000.00	L.S.	\$10,000.00	L.S.	\$3,000.00	LS.	\$10,000.00
202.0452	Removal of 100HP Variable Frequency Drive and Manual Bypass (2 Ea.)	L.S.	L.S.	L.S.	\$3,000.00	L.S.	\$12,800.00	L.S.	\$10,000.00	L.S.	\$3,000.00	L.S.	\$7,000.00
203.0100	Roadway Excavation	10,500	C.Y.	\$22.00	\$231,000.00	\$80.00	\$840,000.00	\$49.00	\$514,500.00	\$125.00	\$1,312,500.00	\$40.00	\$420,000.00
209.0100	Installation, Maintenance and Monitoring of BMP Plan	L.S.	L.S.	L.S.	\$200,000.00	L.S.	\$26,000.00	L.S.	\$279,016.00	L.S.	\$150,000.00	L.S.	\$200,000.00
							· · · · · · · · · · · · · · · · · · ·		·			Sheet No. 1	

Sheet No. 1 of 7 Sheets

PROJECT: Likelike Highway Wilson Tunnel Improvements Leak and Crack Remediation  PROJECT NO.: STP-063-1(22) Net Length of Project: 0.66 Miles  ISLAND: Oahu DISTRICT: Honolulu and Koolaupoko  DATE ADVERTISED: Honolulu Star-Bulletín - June 9, 2003  BIDS OPENED: June 30, 2003  COMPLETION TIME: Three Hundred Ninety-four (394) Working Days				KIEWIT PACIFIC CO.		JAS. W. GLOVER LTD.		HAWAIIAN DREDGING CONSTRUCTION CO., INC.		OKADA TRUCKING CO., LTD.		STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION	
ITEM NO.	ITEM	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
209.0200	Additional Water Pollution and Erosion Control	F.A.	F.A.	F.A.	\$150,000.00	F.A.	\$150,000.00	F.A.	\$150,000.00	F.A.	\$150,000.00	F.A.	\$150,000.00
305.1110	Aggregate Subbase	2,625	C.Y.	\$60.00	\$157,500.00	\$115.00	\$301,875.00	\$37.00	\$97,125.00	\$85.00	\$223,125.00	\$75.00	\$196,875.00
306.0100	Untreated Permeable Base Course	2,625	C.Y.	\$70.00	\$183,750.00	\$135.00	\$354,375.00	\$58.00	\$152,250.00	\$95.00	\$249,375.00	\$100.00	\$262,500.00
401.0400	Asphalt Concrete Pavement, Mix No. IV	14	TON	\$700.00	\$9,800.00	\$560.00	\$7,840.00	\$565.00	\$7,910.00	\$375.00	\$5,250.00	\$100.00	\$1,400.00
411.1115	Portland Cement Concrete Pavement	4,600	C.Y.	\$200.00	\$920,000.00	\$270.00	\$1,242,000.00	\$247.00	\$1,136,200.00	\$1,365.00	\$6,279,000.00	\$300.00	\$1,380,000.00
604.2150	Type A Cast Iron Frame and Cover for Drain Manhole	14	EA.	\$2,500.00	\$35,000.00	\$400.00	\$5,600.00	\$1,100.00	\$15,400.00	\$1,050.00	\$14,700.00	\$2,000.00	\$28,000.00
604.2360	Drain Inlet Frame and Grate	86	EA.	\$2,000.00	\$172,000.00	\$300.00	\$25,800.00	\$1,000.00	\$86,000.00	\$525.00	\$45,150.00	\$1,200.00	\$103,200.00
604.2370	Catch Basin Frame and Grate	190	EA.	\$2,000.00	\$380,000.00	\$300.00	\$57,000.00	\$1,000.00	\$190,000.00	\$525.00	\$99,750.00	\$1,200.00	\$228,000.00
604.5100	Drywell	1	EA.	\$5,000.00	\$5,000.00	\$2,500.00	\$2,500.00	\$2,400.00	\$2,400.00	\$2,750.00	\$2,750.00	\$3,500.00	\$3,500.00
605.0006	6-inch Perforated Underdrain Pipe	11,640	L.F.	\$9.00	\$104,760.00	\$12.00	\$139,680.00	\$16.00	\$186,240.00	\$25.00	\$291,000.00	\$35.00	\$407,400.00
605.2000	Cleanout	6	EA.	\$2,000.00	\$12,000.00	\$300.00	\$1,800.00	\$1,000.00	\$6,000.00	\$360.00	\$2,160.00	\$500.00	\$3,000.00
605.3000	Underdrain Connection to Drainage Structure	5	EA.	\$2,000.00	\$10,000.00	\$400.00	\$2,000.00	\$2,000.00	\$10,000.00	\$425.00	\$2,125.00	\$1,000.00	\$5,000.00
606.4160	Concrete Median Barrier/Slab	L.S.	L.S.	L.S.	\$150,000.00	L.S.	\$44,000.00	L.S.	\$200,000.00	L.S.	\$80,000.00	L.S.	\$140,000.00
606.4170	Concrete Median Barrier	74	L.F.	\$1,000.00	\$74,000.00	\$900.00	\$66,600.00	\$2,000.00  \$	\$148,000.00	\$750.00	\$55,500.00 <u> </u>	\$840.00	\$62,160.00
606.4180	Concrete Roadside Barrier	L.S.	L.S.	L.S.	\$475,000.00	L.S.	\$155,000.00	L.S.	\$500,000.00	L.S.	\$250,000.00	L.S.	\$173,700.00
606.4190	Median Barrier Modification (160 L.F.)	L.S.	L.S.	L.S.	\$20,000.00	L.S.	\$19,000.00	L.S.	\$30,000.00	L.S.	\$5,000.00	L.S.	\$15,000.00
608.0200	Concrete Sidewalk	10	S.Y.	\$500.00	\$5,000.00	\$300.00	\$3,000.00	\$400.00	\$4,000.00	\$100.00	\$1,000.00	\$55.00	\$550.00

4-Inch Pavement Striping (Thermoplastic Extrusion)

629.1010

(12,770 L.F.)

	Likelike Highway Wilson Tunnel Improvements Leak and Crack Remediation												
	ROJECT NO.: STP-063-1(22) Net Length of Project: 0.66 Miles  SLAND: Oahu DISTRICT: Honolulu and Koolaupoko		KIEWIT PACIFIC CO.		JAS. W. GLOVER LTD.		HAWAIIAN DREDGING		OKADA TRUCKING CO.,		STATE OF HAWAII DEPARTMENT OF TRANSPORTATION		
	RTISED: Honolulu Star-Bulletin - June 9, 2003 D: June 30, 2003	ar-Bulletin - June 9, 2003						CONSTRUCTION CO., INC.		LTD.		HIGHWAYS DIVISION	
COMPLETIO	N TIME: Three Hundred Ninety-four (394) Working Days											·	
ITEM NO.	ITEM	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
609.2020	Curb, Type 2D	140	L.F.	\$50.00	\$7,000.00	\$50.00	\$7,000.00	\$100.00	\$14,000.00	\$35.00	\$4,900.00	\$45.00	\$6,300.00
614.0200	Adjusting Standard Street Survey Monument	6	EA.	\$1,000.00	\$6,000.00	\$1,300.00	\$7,800.00	\$1,000.00	\$6,000.00	\$375.00	\$2,250.00	\$1,000.00	\$6,000.00
621.4700	Reflector Marker (RM-3) Mounted on Concrete Barrier	7	EA.	\$70.00	\$490.00	\$71.00	\$497.00	\$65.00	\$455.00	\$65.00	\$455.00	\$100.00	\$700.00
621.4800	Reflector Marker (RM-3) Mounted on Tunnel Wall	11	EA.	\$90.00	\$990.00	\$95.00	\$1,045.00	\$85.00	\$935.00	\$85.00	\$935.00	\$200.00	\$2,200.00
621.5000	Regulatory and Warning Sign (10 Square Feet or Less)	7	EA.	\$250.00	\$1,750.00	\$230.00	\$1,610.00	\$215.00	\$1,505.00	\$215.00	\$1,505.00	\$250.00	\$1,750.00
621.5110	Regulatory and Warning Sign (10 Square Feet or Less) Mounted on Tunnel Wall	9	EA.	\$250.00	\$2,250.00	\$270.00	\$2,430.00	\$255.00	\$2,295.00	\$255.00	\$2,295.00	\$500.00	\$4,500.00
621.7600	Construction Sign With Post	4	EA.	\$450.00	\$1,800.00	\$550.00	\$2,200.00	\$435.00	\$1,740.00	\$435.00	\$1,740.00	\$400.00	\$1,600.00
621.8000	Relocation of Existing Signs	1	EA.	\$150.00	\$150.00	\$142.00	\$142.00	\$130.00	\$130.00	\$130.00	\$130.00	\$200.00	\$200.00
622.1001	Adjust Existing Underground Street Light Conduits and Wiring to New Street Light Configuration (250 L.F.)	L.S.	L.S.	L.S.	\$17,700.00	L.S.	\$9,000.00	LS.	\$15,000.00	L.S.	\$18,000.00	L.S.	\$800.00
622.2001	New Concrete Footing at New Grade (1 Ea.)	L.S.	L.S.	L.S.	\$1,200.00	L.S.	\$2,000.00	L.S.	\$1,400.00	L.S.	\$1,500.00	L.S.	\$1,000.00
622.2002	New Street Light Pole (1 Ea.)	L.S.	L.S.	L.S.	\$3,500.00	L.S.	\$6,000.00	L.S.	\$6,800.00	L.S.	\$4,000.00	L.S.	\$3,000.00
623.2001	New Traffic Signal Pole and Concrete Footing (1 Ea.)	L.S.	L.S.	L.S.	\$5,800.00	L.S.	\$5,000.00	L.S.	\$2,500.00	L.S.	\$6,000.00	L.S.	\$3,000.00
623.2002	New Traffic Signal Pullbox (1 Ea.)	L.S.	L.S.	L.S.	\$4,000.00	L.S.	\$1,000.00	L.S.	\$1,700.00	L.S.	\$4,000.00	L.S.	\$500.00
623.2003	Reinstall Existing Traffic Signal Wiring (80 L.F.)	L,S.	L.S.	L.S.	\$1,000.00	L.S.	\$2,000.00	L.S.	\$4,000.00	L.S.	\$1,000.00	L.S.	\$100.00
ı	1	I	1	l	1	I I		1		1	ł	I	: [

\$12,000.00

L.S.

L.S.

L.S.

L.S.

Sheet No. 3 of 7 Sheets

\$14,000.00

L.S.

L.S.

\$13,800.00

\$12,000.00

L.S.

\$13,000.00

662,0200

662.0300

Drainage Trough

Tunnel Drain Pipe (2-inch HDPE)

PROJECT: Likelike Highway Wilson Tunnel Improvements Leak and Crack Remediation PROJECT NO.: STP-063-1(22) Net Length of Project: 0.66 Miles STATE OF HAWAII DEPARTMENT OF OKADA TRUCKING CO., JAS, W. GLOVER LTD. HAWAIIAN DREDGING KIEWIT PACIFIC CO. ISLAND: Oahu DISTRICT: Honolulu and Koolaupoko TRANSPORTATION LTD. CONSTRUCTION CO., INC. HIGHWAYS DIVISION DATE ADVERTISED: Honolulu Star-Bulletin - June 9, 2003 BIDS OPENED: June 30, 2003 COMPLETION TIME: Three Hundred Ninety-four (394) Working Days **UNIT PRICE** UNIT PRICE **AMOUNT** UNIT PRICE **AMOUNT** UNIT PRICE **AMOUNT** UNIT PRICE AMOUNT QUANTITY **UNIT USED** ITEM NO. ITEM 8-Inch Pavement Striping (Thermoplastic Extrusion) 629.1011 \$3,100.00 L.S. \$3,000.00 L.S. \$2.883.00 L.S. L.S. \$2,900.00 L.S. L,S. L.S. (2,470 L.F.) L.S. L.S. \$2,950.00 L.S. \$3,360.00 L.S. L.S. \$3,400.00 L.S. \$3,700.00 629.2010 Type A Pavement Marker (1020 Each) L.S. \$2,520.00 L.S. \$2,800,00 L.S. \$2,700.00 L.S. \$2,500.00 629.2030 Type C Pavement Marker (340 Each) L.S. L.S. L.S. L.S. \$850.00 L.S. \$780.00 L.S. \$1,200.00 L.S. \$800.00 L.S. L.S. 629.2070 L.S. L.S. Type H Pavement Marker (150 Each) \$2,450.00 L.S. \$2.000.00 L.S. \$1,800.00 L.S. \$1,715.00 L.S. L.S. L.S. 629.2080 L.S. Rumble Strip (3 Ea.) L.S. \$32,000.00 L.S. \$32,000.00 L.S. 636.0100 Field Office (Not to exceed \$32,000) L.S. L.S. L.S. \$32,000.00 L.S. \$32,000.00 F.A. \$32,000.00 F.A. \$32,000.00 F.A. \$32,000.00 F.A. \$32,000.00 F.A. 636.2000 Maintenance of Field Office F.A. F.A. \$3,600,00 L.S. L.S. \$3,600.00 L.S. \$3,600.00 L.S. \$3,600.00 L.S. 638.1000 Cellular Phone (Not to exceed \$3600.00 for 4 Phones) L.S. L.S. \$62.00 \$100,750.00 \$60.00 \$97,500.00 \$160.00 \$260,000.00 \$130.00 \$211,250.00 \$200.00 \$325,000.00 645.0100 Electronic Message Board (10 Each) 1,625 DAY 645.2000 Additional Police Officers And/Or Additional Traffic F.A. \$200,000.00 \$200,000.00 \$200,000.00 F.A. \$200,000.00 F.A. \$200,000.00 F.A. F.A. F.A. F.A. **Control Devices** \$350,000.00 L.S. \$1,199,880.00 L.S. L.S. \$411,000.00 \$336,421.00 L.S. \$340,000.00 L.S. 660.0100 Painting Tunnel Walls and Ceiling (184,400 S.F.) L.S. L.S. \$3,828,330.00 L.S. \$3,135,000.00 L.S. \$3,300,000.00 L.S. \$2,875,000.00 L.S. \$3,432,000.00 661.0100 Glazed Tunnel Wall Tile (110,800 S.F.) L.S. L.S. L.S. L.S. \$2,810.00 L.S. \$4,500.00 L.S. \$2,700.00 Glazed Tunnel Wall Tile (Spare) (4500 Tiles) L.S. L.S. \$3,000.00 L.S. 661.0200 L.S. \$36.00 \$1,647,360.00 \$14.00 \$640,640.00 \$20.00 \$915,200.00 \$549,120.00 \$16.00 \$732,160.00 662.0100 Panning Sheet (0.050-inch) 45,760 S.F. \$12.00

\$50.00

\$5,000.00

3.620

30

L.F.

EA.

\$181,000.00

\$150,000.00

\$65.00

\$750.00

\$235,300.00

\$22,500.00

Sheet No. 4 of 7 Sheets

\$25.00

\$2,500.00

\$307,700.00

\$42,000.00

\$85.00

\$1,400.00

\$133.00

\$3,000.00

\$481,460.00

\$90,000.00

AMOUNT

\$3,000.00

\$7,300.00

\$2,400.00

\$1,050.00

\$6,600.00

\$32,000.00

\$32,000.00

\$3,600.00

\$12,500.00

\$90,500.00

\$75,000.00

PROJECT: Likelike Highway Wilson Tunnel Improvements Leak and Crack Remediation  PROJECT NO.: STP-063-1(22) Net Length of Project: 0.66 Miles  ISLAND: Oahu DISTRICT: Honolulu and Koolaupoko  DATE ADVERTISED: Honolulu Star-Bulletin - June 9, 2003 BIDS OPENED: June 30, 2003  COMPLETION TIME: Three Hundred Ninety-four (394) Working Days				KIEWIT PACIFIC CO.		JAS. W. GLOVER LTD.		HAWAIIAN DREDGING CONSTRUCTION CO., INC.		OKADA TRUCKING CO., LTD.		STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION	
ITEM NO.	ITEM	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
663.0100	Concrete Repair (Surficial and Severe Defects)	1,005	S.F.	\$60.00	\$60,300.00	\$135.00	\$135,675.00	\$125.00	\$125,625.00	\$65.00	\$65,325.00	\$30.00	\$30,150.00
663.0200	Crack Repair	10,500	L.F.	\$75.00	\$787,500.00	\$80.00	\$840,000.00	\$74.00	\$777,000.00	\$80.00	\$840,000.00	\$70.00	\$735,000.00
663.0300	Waterproof Grout	1,100	L.F.	\$70.00	\$77,000.00	\$37.00	\$40,700.00	\$34.00	\$37,400.00	\$75.00	\$82,500.00	<b>\$</b> 15. <u>0</u> 0	\$16,500.00
664.0100	Sealants (4500 L.F.)	L.S.	L.S.	L.S.	\$50,000.00	L.S.	\$128,000.00	L.S.	\$100,000.00	L.S.	\$50,000.00	L.S.	\$106,313.00
681.0200	Demolition (Motors, Drives and Associated Materials)	L.S.	L.S.	Ł.S.	\$22,000.00	L.S.	\$23,600.00	L.S.	\$22,080.00	L.S.	\$22,080.00	L.S.	\$9,000.00
681.0201	Electric Motor, 100 HP	2	EA.	\$14,000.00	\$28,000.00	\$18,000.00	\$36,000.00	\$14,010.00	\$28,020.00	\$14,025.00	\$28,050.00	\$14,500.00	\$29,000.00
681.0202	Electric Motor, 350 HP	2	EA.	\$25,000.00	\$50,000.00	\$31,000.00	\$62,000.00	\$24,255.00	\$48,510.00	\$24,275.00	\$48,550.00	\$25,600.00	\$51,200.00
681.0203	Gear Drive Rated at 100 HP	2	EA.	\$12,000.00	\$24,000.00	\$13,500.00	\$27,000.00	\$11,897.00	\$23,794.00	\$12,000.00	\$24,000.00	\$17,500.00	\$35,000.00
681.0204	Gear Drive Rated at 350 HP	2	EA.	\$23,000.00	\$46,000.00	\$25,000.00	\$50,000.00	\$22,280.00	\$44,560.00	\$22,300.00	\$44,600.00	\$41,200.00	\$82,400.00
681.0304	Couplings	8	EA.	\$1,900.00	\$15,200.00	\$2,000.00	\$16,000.00	\$1,817.00	\$14,536.00	\$1,820.00	\$14,560.00	\$2,800.00	\$22,400.00
681.0404	Testing and Aligning (Motors and Drives)	L.S.	L.S.	L.S.	\$25,000.00	L.S.	\$22,500.00	L.S.	\$20,480.00	L.S.	\$20,500.00	L.S.	\$4,800.00
690.1001	Disconnect Feeder Conductors from 350HP Fan Motor (2 Ea.)	L.S.	L.S.	L.S.	\$2,000.00	L.S.	\$3,400.00	L.S.	\$3,000.00	L.S.	\$1,000.00	L.S.	\$500.00
690.1002	Disconnect Feeder Conductors from 100HP Fan Motor (2 Ea.)	L.S.	L.S.	L.S.	\$2,000.00	L.S.	\$3,400.00	L.S.	\$3,000.00	L.S.	\$1,000.00	L.S.	\$300.00
690.1003	Disconnect Feeder Conductors from Motor Space Heater (2 Ea.)	L.S.	L.S.	L.S.	\$2,000.00	L.S.	\$1,400.00	L.S.	\$1,500.00	L.S.	\$1,000.00	L.S.	\$100.00
690.1004	Disconnect SCADA Wiring from Variable Frequency Drive and Manual Bypass (3,000 L.F.)	L.S.	L.S.	L.S.	\$2,000.00	L.S.	\$2,500.00	L.S.	\$1,500.00	L.S.	\$1,000.00	L.S.	\$300.00

Sheet No. 5 of 7 Sheets

Î	Likelike Highway Wilson Tunnel Improvements Leak and Crack Remediation												
PROJECT NO.: STP-063-1(22)  Net Length of Project: 0.66 Miles  ISLAND: Oahu  DISTRICT: Honolulu and Koolaupoko				KIEWIT PACIFIC CO.		JAS. W. GLOVER LTD.		HAWAIIAN DREDGING		OKADA TRUCKING CO.,		STATE OF HAWAII DEPARTMENT OF	
	RTISED: Honolulu Star-Bulletin - June 9, 2003 D: June 30, 2003			CONSTRUCTION CO., INC. LTD.		LTD.	TRANSPORTATION HIGHWAYS DIVISION						
COMPLETIO	N TIME: Three Hundred Ninety-four (394) Working Days												
ITEM NO.	ITEM	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
690.2001	350HP Variable Frequency Drive and Manual Bypass (2 Ea.)	L.S.	L.S.	L.S.	\$113,000.00	L.S.	\$162,275.00	L.S.	\$3,200.00	L.S.	\$15,000.00	L.S.	\$215,000.00
690.2002	100HP Variable Frequency Drive and Manual Bypass (2 Ea.)	L.S.	L.S.	L.S.	\$113,000.00	L.S.	\$100,200.00	Ĺ.s.	\$3,100.00	L.S.	\$15,000.00	L.S.	\$149,000.00
690.2003	Connect Existing Feeder Conductors to New 350HP Fan Motor (2 Ea.)	L.S.	L.S.	L.S.	\$2,000.00	L.S.	\$3,500.00	L.S.	\$3,400.00	L.S.	\$1,000.00	L.S.	\$1,000.00
690.2004	Connect Existing Feeder Conductors to New 100HP Fan Motor (2 Ea.)	L.S.	L.S.	L.S.	\$2,000.00	L.S.	\$3,500.00	L.S.	\$3,400.00	L.S.	\$1,000.00	L.S.	\$600.00
690.2005	Connect Existing Feeder Conductors to New Motor Space Heater (4 Ea.)	L.S.	L.S.	L.S.	\$1,000.00	L.S.	\$3,500.00	L.S.	\$1,500.00	L.S.	\$1,000.00	L,S.	\$240.00
690.2006	Connect Existing SCADA Wiring to New Variable Frequency Drive and Manual Bypass (3,000 L.F.)	L.S.	L.S.	L.S.	\$1,000.00	L.S.	\$6,800.00	L.S.	\$2,000.00	L.S.	\$1,000.00	L.S.	\$500.00
690.2007	New 1P20A Circuit Breakers in Existing Distribution Panel	L.S.	L.S.	L.\$.	\$500.00	L.S.	\$2,000.00	L.S.	\$250.00	L.S.	\$500.00	L.S.	\$200.00
690.2008	Route New Conductors in Existing Conduits from Existing Distribution Panel to New Fan Control Panels	L.S.	L.S.	L.S.	\$6,000.00	L,S.	\$3,500.00	L.S.	\$2,400.00	L.S.	\$7,500.00	L.S.	\$280.00
693.0100	Terminal Impact Attenuator	1	EA.	\$22,000.00	\$22,000.00	\$19,000.00	\$19,000.00	\$20,000.00	\$20,000.00	\$18,500.00	\$18,500.00	\$40,000.00	\$40,000.00
693.0200	Replacement Cartridge Cell (Unassembled)	L.S.	L.S.	L.S.	\$3,000.00	L.S.	\$2,900.00	L.S.	\$2,675.00	L.S.	\$2,675.00	'L.S.	\$20,000.00
693.0300	Replacement Nose Section Cover and Replacement Cartridge Cell (Unassembled)	1	EA.	\$1,000.00	\$1,000.00	\$1,100.00	\$1,100.00	\$1,010.00	\$1,010.00	\$1,025.00	\$1,025.00	\$3,500.00	\$3,500.00
				1									
<u> </u>			·					<u></u>				Sheet No. 6	3 of 7 Sheets

Sheet No. 6 of 7 Sheets

<del></del>	TABULATION OF BIDS	3				<u> </u>							
PROJECT:	Likelike Highway Wilson Tunnel Improvements Leak and Crack Remediation	•											- disk district of the second
PROJECT NO	.: STP-063-1(22) Net Length of Project: 0.66 Miles												
ISLAND: Oal	nu DISTRICT: Honolulu and Koolaupoko			KIEWIT	PACIFIC CO.	IAS W	CLOVED LTD		441 55555			1	E OF HAWAII
DATE ADVERTISED: Honolulu Star-Bulletin - June 9, 2003 BIDS OPENED: June 30, 2003						JAS. W. GLOVER LTD.		HAWAIIAN DREDGING CONSTRUCTION CO., INC.		OKADA TRUCKING CO., LTD.		DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION	
COMPLETION	I TIME: Three Hundred Ninety-four (394) Working Days				:								
ITEM NO.	ITEM	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT		·				
699.1000	Mobilization (Not to exceed 10 percent of the sum of all			OTT THOSE	AMOON	ONIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
	items excluding the bid price of this item, incentive allowance, field office, cellular phone, and force					j			·	İ			
	account items)	L.S.	L.S.	L.S.	\$900,000.00	L.S.	\$1,000,000.00	L.S.	\$1,127,000.00	L.S.	\$1,250,000.00	L.S.	\$1,177,717.80
	A. SUM OF ALL ITEMS				\$11,027,560.00		\$12,264,502.12	1	ا \$13,370,000.00		l	1	
	B. Either Furnish Foreign Steel Not to Exceed Minimal Amount (Fill in "0") or Furnish Foreign Steel in Excess						, , =		410,070,000.00		\$17,530,700.00		\$13,672,495.80
	B. Either Furnish Foreign Steel Not to Exceed Minimal				\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
					\$11,027,560.00		\$12,264,502.12		\$13,370,000.00		\$17,530,700.00		\$13,672,495.80
	D. Tunnel Improvements Early Completion Time x Road User Cost Calendar Days x \$10,000 / Calendar Day (Refer to Subsection 108.07 - Early												, , , , ,
	Completion Incentive Provision)				\$600,000.00		\$600,000.00		\$500,000.00	•	\$600,000.00		\$600,000.00
	E. Amount for Comparison of Bids (C+D)				\$11,627,560.00		\$12,864,502.12		\$13,870,000.00		\$18,130,700.00		\$14,272,495.80
	I CERTIFY THAT THIS IS A TRUE AND CORRECT TABULATION OF BIDS OPENED FOR THIS PROJECT.												
	Cart Hanne Christine Yamasaki Project Manager	7-09-0 Dat											